
Simple Cubic 



Figure 12  Primitive basis vectors 

of the body-centered cubic lattice. 





Rhombic dodecahedron 

菱形 十二面體 



Rhombic  Dodecahedron 

    菱形     十二面體 

The long diagonal of each face is exactly √2 times the length of the short 

diagonal, so that the acute angles on each face measure arc Cos(1/3), or 

approximately 70.53° 



Reciprocal Lattice to fcc Lattice 

Figure 14   Primitive basis vectors of the face-centered cubic lattice. 







Octahedron Truncated Octahedron 









    At a zero of SG the scattered intensity will be zero, even though G 

is a perfectly good reciprocal lattice vector. What happens if we 

choose the cell in another way, as a conventional cell instead of a 

primitive cell, for example? The basis is changed, but in such a way 

that the physical scattering is unchanged. Thus for two choices, 1 

and 2, it is not hard to satisfy yourself from (39) that  

    N1 (cell) ╳  S1 (basis) = N2 (cell) ╳ S2 (basis) 



Structural Factor of the bcc Lattice 





Structural Factor of the fcc Lattice 



NaCl   

 KCl 



K+ is at (0,0,0), and  

Cl- is at (1/2, 1/2, 1/2). 

as if it is a simple cubic of a/2 lattice 







Fcc Al metal 



Home Work:  Kittel Chapter 2 

 

Problems:   

 

# 1 

# 4 

# 5 

 

 

 


